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TNPSC Group 2 Model Question Paper 6 

General Studies 

1. Match the following : 

 (a) Krebs cycle    1. Occurs in cytoplasm 

 (b) Ubiquinone    2. Diffuse from cytoplasm to mitochondria 

 (c) Glycolysis    3. Mobile carrier 

 (d) Acetyl – CoA   4. Occurs in mitochondrial matrix 

  (a) (b) (c) (d) 

 (A)  4 3 1 2 

 (B) 3 1 4 2 

 (C) 1 4 2 3 

 (D) 4 1 3 2 

Ans - (A)  4 3 1 2 

 nghUj;Jf : 

(a) fpug; Row;rp    1. irl;Nlhgpshrj;jpy; eilngWk; 
(b) A+gpf;Fapdhd;   2. irl;Nlhgpshrj;jpypUe;J ikl;Nlhfhz;bhpahTf;F  

guTk; 
(c) fpisf;Nfhyp]p];   3. efUk; Nfhpah;fs; 
(d) m]pl;ly; Jiz vd;i]k; V 4. ikl;Nlhfhd;bhpahtpd; Nkl;hpf;]; gFjpapy; 

eilngWk; 

  (a) (b) (c) (d) 

 (A) 4 3 1 2 

 (B) 3 1 4 2  

 (C) 1 4 2 3 

 (D) 4 1 3 2 

Ans - (A)  4 3 1 2 

2. The purines present in nucleic acids are : 

 I. Adenine and Cytosine 

 II. Guanine and Thymine 

 III. Adenine and Guanine 

 IV. Cytosine and Uracil 

(A) IV  (B) III  (C) II  (D) I 
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Ans - (B) III  

 epA+f;spf; mkpyq;fspy; fhzg;gLk; g;A+hpd;fs; 

I. mbidd; kw;Wk; irl;Nlhrpd;  

II. Fthdpd; kw;Wk; ijkpd; 
III. mbidd; kw;Wk; Fthdpd; 
IV. irNlhrpd; kw;Wk; Auhrpy; 

 

(A) IV  (B) III  (C) II  (D) I 

Ans - (B) III  

3. Find out the correct match/es : 

 I. Enzymes  - Biological catalysts 

 II. DNA  - Nucleic acid 

 III. Insulin  - Hormone 

IV. Vitamine E   - Water soluble vitamin 

 (A) II only  (B) I only  (C) I, II and IV  (D) I, II and III 

 Ans - (D) I, II and III 

 rhpahd nghUj;jj;jpidf;/ahitfis fz;lwpf. 

I. nehjpfs;  - caphpa fphpah Cf;fpfs; 
II. b.vd;.V   - epA+f;spf; mkpyk; 
III. ,d;Rypd;  - `hh;Nkhd; 
IV. itl;lkpd; E  - ePhpy; fiuAk; itl;lkpd; 

(A) II kl;Lk;  (B) I kl;Lk;  (C) I, II kw;Wk; IV (D) I, II kw;Wk; III 

 Ans - (D) I, II kw;Wk; III 

4. The number of generalized co-ordinates required to describe the position of a simple pendulum is 

 (A) 1  (B) 2  (C) 3  (D) 4 

 Ans - (B) 2 

 xU jdp Crypd; epiyia mwpa Njitahd nghJepiy Maq;fspd; vz;zpf;if 

 (A) 1  (B) 2  (C) 3  (D) 4 

 Ans - (B) 2 

5. If g is the acceleration due to gravity and R is the radius of the earth, then escape velocity is given by the 

relation 

 (A) V = 2g  (B) V = 2 g  (C) V = 2Rg  (D) V = 2 Rg 

 Ans - (C) V = 2Rg 

 g – GtpaPh;g;G KLf;fk; kw;Wk; R -Gtp Muk; vdpy; tpLgL Ntfj;jpw;fhd rkd;ghL 
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 (A) V = 2g  (B) V = 2 g  (C) V = 2Rg  (D) V = 2 Rg 

 Ans - (C) V = 2Rg 

6. The relation connecting Young’s modulus (E), Bulk modulus (K) and Rigidity modulus (N) is 

 (A) 9/E = 3/N+1/K    (B) 9/N=3/E+1/K 

 (C) 9/N=1/E+3/K    (D) 9/E=1/N+3/K 

 Ans - (A) 9/E = 3/N+1/K 

aq;Fzfk; (E) > gUkf; Fzfk; (K) kw;Wk; tpiwg;Gf; Fzfk; (N) Mfpatw;iw ,izf;Fk;  
rkd;ghL 

 (A) 9/E = 3/N+1/K    (B) 9/N=3/E+1/K 

 (C) 9/N=1/E+3/K    (D) 9/E=1/N+3/K 

 Ans - (A) 9/E = 3/N+1/K 

7. The S.I unit of gravitational constant G is 

 (A) N kg
-2

  (B) Nm kg
-1

  (C) Nm
2
 kg

-1
  (D) Nm

2
 kg

-2 

 Ans - (D) Nm
2
 kg

-2
 

 GtpaPh;g;G khwpyp G-apd; S.I myF 

 (A) N kg
-2

  (B) Nm kg
-1

  (C) Nm
2
 kg

-1
  (D) Nm

2
 kg

-2 

 Ans - (D) Nm
2
 kg

-2
 

8. Choose the correct answer : 

 The itai-itai disease of Japan was caused due to 

I. Arsenic pollution  

II. Cyanide pollution 

III. Cadmium pollution 

IV. Lead pollution 

(A) I and II  (B) II and III  (C) III only  (D) IV only 

 Ans - (C) III only 

rhpahd tpil jUf. 

[g;ghdpd; ,l;lha; - ,l;lha; Neha; cUthf;fj;jpw;F fhuzk; 

I. Mh;rdpf; khRghL 
II. iraidl; khRghL 
III. fhl;kpak; khRghL 
IV. nyl; (<ak;) khRghL 

(A) I kw;Wk; II  (B) II kw;Wk; III (C) III kl;Lk;  (D) IV kl;Lk; 

Ans - (C) III kl;Lk; 
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9. Match the following : 

 (a)  Sericulture   1. Farming of aquatic organisms 

 (b) Horticulture   2. Culture of honey bees 

 (c)  Aquaculture   3. Rearing of silk worms 

 (d)  Apiculture   4. Cultivation and maintaining gardens 

  (a) (b) (c) (d) 

 (A) 3 4 1 2 

 (B) 2 3 4 1 

 (C) 1 2 3 4 

 (D) 4 3 2 1 

 Ans - (A) 3 4 1 2 

 nghUj;Jf : 

 (a) nrhpfy;r;rh;   1. ePh;tho; caphpd tsh;g;G  

 (b) `hh;bfy;rh;   2. NjdP tsh;g;G 

 (c)  mf;thfy;r;rh;   3. gl;Lg;GO tsh;g;G 

 (d) Vgpfy;r;rh;   4. Njhl;lf;fiy 

  (a) (b) (c) (d) 

 (A) 3 4 1 2 

 (B) 2 3 4 1 

 (C) 1 2 3 4 

 (D) 4 3 2 1 

 Ans - (A) 3 4 1 2 

10. Expand FAT 

 (A)  First Allocation Type 

 (B) File Allocation Type 

 (C) First Allocation Table 

 (D) File Allocation Table 

 Ans - (D) File Allocation Table 

 FAT vd;gjd; tphpthf;fk; vd;d? 

(A) Kjy; gq;fPl;L tif (First Allocation Type) 

(B) Nfhg;G gq;fPl;L tif (File Allocation Type) 



General Studies            Prepared By winmeen.com 
Tnpsc Group 2 Previous Questions : https://goo.gl/PYqsd7   

 

Install Winmeen Mobile App : https://goo.gl/s3YY9V                                                         Page 5 of 36 

 

(C) Kjy; gq;fPl;L gl;bay; (First Allocation Table)  

(D) Nfhg;G gq;fPl;L gl;bay; (First Allocation Table) 

Ans – (D) Nfhg;G gq;fPl;L gl;bay; (First Allocation Table) 

11. Which of the following is used to store large amounts of data? 

 (A) Primary memory   (B) Auxiliary Storage 

 (C) Cache memory   (D) Random access memory 

 Ans - (B) Auxiliary Storage 

 fPo;f;fhZk; epidtfq;fspy; vJ mjpfg;gbahd jfty;fis Nrkp;f;f gad;gLfpwJ? 

(A) Kjd;ik epidtfk;   (B) ,uz;lhk; epiy epidtfk; 

(C) Nf\; epidtfk;    (D) Neub mZfy; epidtfk; 

 Ans - (B) ,uz;lhk; epiy epidtfk; 

12. Give the value of Terabyte. 

 (A) 2
10

  (B) 2
20

  (C) 2
30

  (D) 2
40 

 Ans - (D) 2
40

 

 nlh;uhigl;bd; kjpg;gpidf; $W. 

(A) 2
10

  (B) 2
20

  (C) 2
30

  (D) 2
40

 

 Ans - (D) 2
40

 

13. ‘Bluetooth’ technology is 

 (A) Satellite communication 

 (B) Wired communication between devices 

 (C)  Wireless communication between devices 

 (D) Communication between landline to mobile phone 

 Ans - (C)  Wireless communication between devices 

 ‘GS^j;’ njhopy;El;gk; vd;gJ 

(A) nraw;ifNfhs; njhlh;G 
(B) ,U fUtpfSf;fpilNa cs;s fk;gp njhlh;G 

(C) ,U fUtpfSf;fpilNa cs;s fk;gp ,y;yh njhlh;G 

(D) jiutop njhiyNgrpapypUe;J ifg;Ngrp njhlh;Gf;F  

Ans – (C) ,U fUtpfSf;fpilNa cs;s fk;gp ,y;yh njhlh;G 

14. The plant type which colours the ocean surface water red is 

 (A) Dinoflagellates    (B) Golden algae 

 (C) Green algae     (D) Red alage 
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 Ans - (A) Dinoflagellates 

 fly; ePhpd; Nkw;gug;ig nre;epwkhf khw;Wk; jhtu tif. 

(A) ilNdhg;yh[pNyl;];   (B) jq;f epw fly;ghrp 

 (C) gr;ir epw fly;ghrp   (D) rptg;G epw fly;ghrp 

 Ans - (A) ilNdhg;yh[pNyl;]; 

15. Match List I with List II and select the correct answer : 

   List I (Climate)     List II (Reason) 

(a) Chennai is warmer than Kolkatta   1. Distance from Sea 

(b) Snowfall in Himalayas    2. Altitude 

(c) Rainfall decreases from west Bengal to Punjab 3. Western Disturbance 

(d) Winter Rainfall     4. Latitude 

 (a) (b) (c) (d) 

 (A) 1 2 4 3  

 (B) 1 2 3 4 

 (C) 3 2 4 1 

 (D) 4 2 1 3 

 Ans - (D) 4 2 1 3 

 gl;bay; I-I gl;bay; II-cld; nghUj;jp rhpahd tpiliaj; njhpT nraf. 

  gl;bay; I (fhy epiy)      gl;bay; II (fhuzk;) 

(a) nfhy;fj;jhit tpl nrd;id ntg;gkhf cs;sJ  1. flypy; ,Ue;J J}uk; 
(b) ,kakiyapy; gdpg;nghopT    2. cauk; 
(c) Nkw;F tq;fj;jpypUe;J gQ;rhg; Nehf;fp nry;y  3. Nkw;fj;jpa fhw;W 

kio FiwfpwJ 
(d) Fsph;fhy kiog;nghopT     4. ml;rNuif 

 (a) (b) (c) (d) 

 (A) 1 2 4 3  

 (B) 1 2 3 4 

 (C) 3 2 4 1 

 (D) 4 2 1 3 

 Ans - (D) 4 2 1 3 

16. Which of the following is not a planetary wind? 

 (A) Westerlies     (B) Trade winds 

 (C) Monsoon     (D) Polar easterlies 
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 Ans - (C) Monsoon 

 fPNof; nfhLf;fg;gl;Ls;stw;Ws; Nfhs; fhw;W my;yhjit vJ? 

(A) Nkiyf; fhw;W    (B) tpahghuf; fhw;W 

(C) gUtf; fhw;W    (D) JU0t fPiof;fhw;W 

 Ans - (C) gUtf; fhw;W 

17. The place of India which does not have tropical evergreen forest is 

 (A) Eastern part of Western Ghats 

 (B) Western part of Western Ghats 

 (C) Andhaman and Nicobar islands 

 (D) Eastern part of subtropical Himalayas 

 Ans - (A) Eastern part of Western Ghats 

 ,e;jpahtpy; mad kz;ly gRik khwhf;fhLfis nfhz;buhj gFjp 

(A) Nkw;F njhlh;r;rp kiyapd; fpof;Fg; gFjp 
(B) Nkw;F njhlh;r;rp kiyapd; Nkw;Fg; gFjp 
(C) me;jkhd; epf;Nfhghh; jPTfs;  

(D)  cg mad fpof;F ,kakiy 

Ans - (A) Nkw;F njhlh;r;rp kiyapd; fpof;Fg; gFjp 

18. Consider the following statements and choose the correct answer from the given options. 

 I.  Shompens is tribal inhabitant of Nicobar Island. 

 II.  As per 2011 census, their population is 229. 

(A) I only true      (B) II only true 

(C) I and II are true    (D) I and II are false 

 Ans - (C) I and II are true 

gpd;tUk; $w;iw ftdpj;J nfhLf;fg;gl;Ls;sitfspy; rhpahd tpilia Njh;e;njLf;fTk;. 

I. “\hk;ngd;];” epf;Nfhghh; jPtpy; trpf;Fk; Xh; goq;Fbapdh;. 
II. 2011 kf;fl; njhif fzf;nfLg;gpd;gb ,th;fspd; kf;fs; njhif 229 

(A) Kjy; $w;W kl;Lk; rhp   (B) ,uz;lhtJ $w;W kl;Lk; rhp 

(C) ,uz;Lk; rhpahdJ    (D) ,uz;Lk; jtwhdJ. 

 Ans - (C) ,uz;Lk; rhpahdJ  

19. Choose the correct sequence of the following using the codes given below: 

 I. Qutbuddin Aibak, Iltutmish, Raziya, Balban 

 II. Jahangir, Humayun, Akbar, Shahjahan 
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III. Balaji Viswantha, Balaji Baji rao, Baji Rao I, Shivaji 

(A) I and II only   (B) II and III only 

(C) I only    (D) III only 

 Ans - (C) I only 

fPNo nfhLf;fg;gl;ltw;wpy; FwpaPl;nlz;fis gad;gLj;jp rhpahd thpiriaj; Njh;njL. 

I. Fj;GjPd; Ingf;> ,y;Jj;kp\;> ,urpah> ghy;gd; 
II. [`hq;fPh;> P̀khA+d;> mf;gh;> \h[fhd; 
III. ghyh[p tp];tehj;> ghyh[p gh[puht;> Kjyhk; gh[puht;> rpth[p 

(A) I kw;Wk; II kl;Lk;    (B) II kw;Wk; III kl;Lk; 

(C) I kl;Lk;     (D) III kl;Lk; 

 Ans - (C) I kl;Lk; 

20. Which of the following were among the main exports of Indus valley people. Select the correct answer 

from the codes given below: 

 I. Wheat 

 II.  Barley 

III. Cotton 

IV. Gold 

(A) I, II and III  (B) II and III  (C) I and II  (D) III and IV 

 Ans - (C) I and II 

rpe;J rkntsp kf;fspd; Kf;fpa Vw;Wkjpg; nghUs;fis fPo;f;fz;l FwpaPLfs; %yk; rhpahd 
tpiliaj; Njh;e;njLf;f. 

I. NfhJik 
II. ghh;yp 
III. gUj;jp 
IV. jq;fk; 

(A) I, II kw;Wk; III (B) II kw;Wk; III (C) I kw;Wk; II  (D) III kw;Wk; IV 

 Ans - (C) I kw;Wk; II 

21. Match List I with List II correctly and select answer : 

  List I     List II 

(a) Santhal’s Rebellion    1. 1923 

(b) Maplah Rebellion    2. 1929 

(c) Vizag Revolution    3. 1921 

(d) Bardoli Satyagraha    4. 1855 

(a) (b) (c) (d) 
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 (A)  1 3 2 4 

 (B) 4 1 2 3 

 (C) 4 3 1 2 

 (D) 2 3 1 4 

 Ans - (C) 4 3 1 2 

 gl;bay; II gl;bay; II cld; nghUj;jp rhpahd tpilia Njh;e;njL : 

   gl;bay; I    gl;bay; II 

 (a) rhe;jy;fs; fyfk;   1. 1923 

 (b) khg;sh fyfk;    2. 1929 

 (c) itrhf; fyfk;    3. 1921 

 (d) gh;Njhyp rj;jpahfpufk;   4. 1855 

(a) (b) (c) (d) 

 (A)  1 3 2 4 

 (B) 4 1 2 3 

 (C) 4 3 1 2 

 (D) 2 3 1 4 

 Ans - (C) 4 3 1 2 

22. Match List I with List II correctly and select answer :  

  List I     List II 

(a) Dupleix    1. Nawab of Bengal 

(b) Anwar-ud-din   2. British Admiral 

(c) Shuja-ud-Daula   3. French Governor 

(d) Polock    4. Nawab of Carnatic 

 (a) (b) (c) (d) 

(A) 3 2 4 1 

(B) 1 2 3 4 

(C) 3 4 1 2 

(D) 1 3 4 2 

Ans - (C) 3 4 1 2 

gl;bay; I-I gl;bay; II cld; nghUj;jp rhpahd tpilia Njh;e;njL : 

 gl;bay I   gl;bay; II 

(a) ^g;Ns   1. tq;fhs ethg; 



General Studies            Prepared By winmeen.com 
Tnpsc Group 2 Previous Questions : https://goo.gl/PYqsd7   

 

Install Winmeen Mobile App : https://goo.gl/s3YY9V                                                         Page 10 of 36 

 

(b) md;thUjpd;  2. Mq;fpyg;gil jsgjp 
(c) \P[h cj; njsyh 3. gpnuQ;R fth;dh; 
(d) NghNyhf;   4. fh;dhlf ethg; 

 (a) (b) (c) (d) 

(A) 3 2 4 1 

(B) 1 2 3 4 

(C) 3 4 1 2 

(D) 1 3 4 2 

Ans - (C) 3 4 1 2 

23. Match List I with List II of the following with suitable options : 

  List I     List II 

(a) Kural    1. Rishabham 

(b) Thutham    2. Shadjam 

(c) Kaikilai    3. Madhyamam 

(d) Vuzhai    4. Gandharam 

 (a) (b) (c) (d) 

 (A) 2 1 4 3 

 (B) 1 2 3 4 

 (C)  1 3 2 4 

 (D) 4 2 3 1 

 Ans - (A) 2 1 4 3 

 gl;bay; I ypUe;J gl;bay; II I nghUj;jp rhpahd tpiliaj; Njh;e;njL. 

  gl;bay; I   gl;bay; II 

(a) Fus;    1. Hp\gk; 
(b) J}jk;    2. rhj;[k; 
(c) iffpis    3. kj;jpahkk; 
(d) co;if    4. fhe;jhuk; 

 (a) (b) (c) (d) 

(A) 2 1 4 3 

 (B) 1 2 3 4 

 (C)  1 3 2 4 

 (D) 4 2 3 1 

 Ans - (A) 2 1 4 3 
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24. Match List I with List II of the following with suitable options :   

  List I   List II 

(a) Brahmanas   1. Forest Texts 

(b) Sama veda   2. Guide Book for Priests 

(c) Aranyakas   3. Ritual Texts 

(d) Yajur Veda   4. Book of Chants 

(a) (b) (c) (d) 

 (A) 4 3 1 2 

 (B) 3 4 1 2 

 (C) 3 1 4 2 

 (D) 1 2 3 4 

 Ans - (B) 3 4 1 2 

gl;bay; I ypUe;J gl;bay; II I nghUj;Jf  

 gl;bay; I    gl;bay; II 

(a) gpuhkzq;fs;  1. td E}y;fs; 

(b) rhk Ntjk;   2. GNuhfpjh; topfhl;b E}y; 

(c)Muz;aq;fs;   3. rlq;F E}y;fs; 

(d)A[Ph; Ntjk;   4. ke;jpu E}y;fs; 

(a) (b) (c) (d) 

 (A) 4 3 1 2 

 (B) 3 4 1 2 

 (C) 3 1 4 2 

 (D) 1 2 3 4 

 Ans - (B) 3 4 1 2 

25. Which of the following is/are not correct? 

 Minto-Morley reforms of 1909 introduced the following. 

I. The system of direct election was introduced in provinces 

II. The act did not enfranchise women 

III. It introduced dyarchy in provinces 

IV. Communal electorate was introduced 

(A) I only  (B) I and III  (C) II and III  (D) III only 
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Ans - (B) I and III 

fPo; Fwpg;gpl;litfspy; jtwhdtw;iw Fwpg;gpLf. 

1909-k; Mz;L kpd;Nlh – khh;yp rPh;jpUj;jq;fs; fPo; Fwpg;gpl;l rPh;jpUj;jq;fis mwpKfg;gLj;jpaJ. 

I. Neub Njh;jy; Kiwia khepyq;fspy; Vw;gLj;jpaJ. 

II. ngz;fSf;F Xl;Lhpik nfhLf;ftpy;iy. 

III. ,ul;il Ml;rpia kheyq;fspy; Vw;gLj;jpaJ. 

IV. tFg;G thu Njh;jy; Kiwia mwpKfg;gLj;jpaJ. 

(A) I kl;Lk;     (B) I kw;Wk; III kl;Lk;   

(C) II kw;Wk; III kl;Lk;   (D) III kl;Lk; 

Ans - (B) I kw;Wk; III kl;Lk; 

26. Who bestowed the title Sardar on Vallabhai Patel ? 

 (A) Dadabhai Naoroji    (B) Jawaharlal Nehru 

 (C) Mahatma Gandhi    (D) Rajendra Prasad 

 Ans - (C) Mahatma Gandhi 

 ty;ygha; gNlYf;F ‘rh;jhh;’ vd;W gl;lk; #l;bath; ahh;? 

 (A) jhjhgha; nesNuh[p   (B) [t`h;yhy; NeU 

 (C) kfhj;kh fhe;jp    (D) ,uhN[e;jpu gpurhj; 

 Ans - (C) kfhj;kh fhe;jp 

27. During 1857 revolt which army remained loyal to the British? 

 (A) Bombay Army    (B) Bengal Army 

 (C) Madras Army    (D) Avadh Army 

 Ans - (C) Madras Army 

 1857-k; Mz;L Gul;rpapd; NghJ Mq;fpNyaUf;F tpRthrkhf ,Ue;j ,uhZtk; vJ? 

(A) gk;gha; ,uhZtk;    (B) tq;fhs ,uhZtk; 

(C) nrd;id ,uhZtk;   (D) mNahj;jp ,uhZtk; 

 Ans - (C) nrd;id ,uhZtk; 

28. Pick out the wrong statement. 

 (A) Veerappa, the Zamindar of Koppal rose against the Nizam of Hyderabad in 1819 

 (B) Gadkaris were military classes who garrisoned Marath forts 

 (C) Chakra Bisoi was the khonds leader 

 (D) Sindhu and Kanhu were the leaders of the kola 
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 Ans - (D) Sindhu and Kanhu were the leaders of the kola 

 jtwhd $w;iw Rl;bf;fhl;lTk;. 

(A) 1819-y; Nfhg;ghy; Nuh]; [kpd;jhh; tPug;gh vd;gth; i`juhghj; ep[hKf;F vjpuhf fpsh;r;rp 
nra;jhh;. 

(B) fhl;fhhpfs; kuhj;jpaf; Nfhl;ilf; fhtyh;fs; Mthh;fs; 
(C) rfu gpNrha; vd;gth; Nfhz;Lfspd; jiyth; Mthh; 
(D) rpe;j; P̀ kw;Wk; fd; P̀ vd;gth;fs; Nfhy;fspd; jiytuhthh;fs;. 

Ans - (D) rpe;j; P̀ kw;Wk; fd; P̀ vd;gth;fs; Nfhy;fspd; jiytuhthh;fs;. 

29. Match the following : 

 (a) Simon Commission   1. 1928 

 (b) Nehru Report   2. 1932 

 (c) Second Round Table Conference 3. 1927 

 (d) Communal Award   4. 1931 

  (a) (b) (c) (d) 

 (A) 1 4 3 2 

 (B) 3 1 4 2 

 (C) 3 1 2 4 

 (D) 2 4 1 3 

 Ans - (B) 3 1 4 2 

 fPo;fz;ltw;iw nghUj;Jf  

 (a) irkd; FO    1. 1928 

 (b) NeU mwpf;if   2. 1932 

 (c) ,uz;lhtJ tl;lNki[ khehL 3. 1927 

 (d) tFg;G thhpj; jPh;T   4. 1931 

  (a) (b) (c) (d) 

 (A) 1 4 3 2 

 (B) 3 1 4 2 

 (C) 3 1 2 4 

 (D) 2 4 1 3 

 Ans - (B) 3 1 4 2 

30. Identify the statement, which is not the cause for the failure of Quit India Movement 

 (a) British Government arrested key leaders in anticipation to the movement 
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 (b) Nehru and Rajaji disbelieved in Direct Action 

 (c) Hindu Mahasabha and Muslim League supported the movement 

 (d) British Government suppressed the movement 

 (A) (a) alone 

 (B) (a) and (b) alone 

 (C) (c) alone 

 (D) (a), (b) and (d) alone 

 Ans - (C) (c) alone 

nts;isaNd ntspNaW ,af;fk; Njhy;tpaila vJ fhuzky;y vd;gij nfhLf;fg;gl;Ls;s 
thrfq;fspypUe;J milahsk; fhz;. 

(a) Mq;fpy murhq;fk; Kd;ndr;rhpf;if eltbf;ifahf Kf;fpa jiyth;fis rpiwapy; 
milj;jJ. 

(b) NeU kw;Wk; ,uh[h[p MfpNahh; Neub eltbf;iffspy; ek;gpf;if itf;ftpy;iy. 
(c)  

(d) Mq;fpy murhq;fk; ,t;tpaf;fj;ij mlf;fpaJ. 

 (A) (a) kl;Lk; 

 (B) (a) kw;Wk; (b) kl;Lk; 

 (C) (c) kl;Lk; 

 (D) (a), (b) kw;Wk; (d) Mfpa %d;Wk; 

 Ans - (C) (c) kl;Lk; 

31. Among the 50 students in a class, what percentage of students like biology and chemistry? 

  Subjects   No. of Students 

 Mathematics     6 

 Physics      12 

 Chemistry     15 

 Biology      8 

 Computer science    9 

(A) 64%  (B) 46%  (C) 23%  (D) 77% 

Ans - (B) 46% 

xU tFg;gpYs;s 50 khzth;fspy;> vj;jid rjtPj khzth;fs; Ntjpapay;> caphpay; ghlq;fis 
tpUk;Gfpd;wdh;? 

  ghlk;    khzth;fspd; vz;zpf;if 

 fzpjk;      6 
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 ,aw;gpay;     12 

 Ntjpapay;     15 

 caphpay;     8 

 fzpdpapay;     9  

(A) 64%  (B) 46%  (C) 23%  (D) 77% 

Ans - (B) 46% 

32. For any n observations of data, what is the value of (x) – nx ? 

 (A) n( x) (B) (n-2)x (C) (n-1)x (D) 0 

Ans - (D) 0 

 ve;j xU n vz;fspd; njhFg;gpw;Fk; (x) – nx d; kjpg;G ahJ? 

 (A) n( x) (B) (n-2)x (C) (n-1)x (D) 0 

Ans - (D) 0 

33. Simplify : 0.728 x 0.728 – 0.272 x 0.272 / 0.456 

 (A) 0.456  (B) 1  (C) 0.728  (D) 0.272 

Ans - (B) 1 

RUf;Ff : 0.728 x 0.728 – 0.272 x 0.272 / 0.456 

 (A) 0.456  (B) 1  (C) 0.728  (D) 0.272 

Ans - (B) 1 

34. If x/y = 3/5, then 5x +2y/5x-2y is equal to 

 (A) 3   (B) 5  (C) 2/5   (D) 5/2 

Ans - (B) 5 

 x/y = 3/5, vdpy; 5x +2y/5x-2y vd;gJ vjw;Fr; rkk; 

 (A) 3   (B) 5  (C) 2/5   (D) 5/2 

Ans - (B) 5 

35. A person’s present age is two-fifth of the age of his mother. After 8 years, he will be one half of the age of 

his mother. How old is the mother at present? 

(A) 42   (B) 40   (C) 45   (D) 48 

Ans - (B) 40  

xU eghpd; jw;Nghija taJ mth; jhahhpd; tajpy; Ie;jpy; ,uz;L klq;fhf cs;sJ. 8 
tUlq;fs; fopj;J mthpd; taJ> mth; jhahhpd; tajpy; ghjpahf cs;sJ. jhahhpd; jw;Nghija 
taJ vd;d? 

(A) 42   (B) 40   (C) 45   (D) 48 
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Ans - (B) 40  

36. Find the value of 1.2 x 1.2 x 1.2 – 0.2 x 0.2 x 0.2/ 1.2 x 1.2 + 1.2 x 0.2 + 0.2 x 0.2 

 (A) 42  (B) 1  (C) 0.2  (D) 1.4 

 Ans - (B) 1 

1.2 x 1.2 x 1.2 – 0.2 x 0.2 x 0.2/ 1.2 x 1.2 + 1.2 x 0.2 + 0.2 x 0.2 

 (A) 42  (B) 1  (C) 0.2  (D) 1.4 

 Ans - (B) 1 

37. A bicycle marked at Rs. 1,500 is sold for Rs. 1,350. What is the percentage of discount ? 

 (A) 12  (B) 15  (C) 11  (D) 10 

 Ans - (D) 10 

xU kpjptz;bapd; tpiy &.1>500 vd;w Fwpf;fg;gl;Ls;sJ. ,jid &.1>350f;F tpw;why;> js;Sgb 
rjtPjk; vd;d? 

 (A) 12  (B) 15  (C) 11  (D) 10 

 Ans - (D) 10 

38. Which one of the following is the smallest ratio ? 

 7:13, 17:25, 7:15, 15:23 

(A) 7:13  (B) 17:25  (C) 7:15  (D) 15:23 

Ans - (C) 7:15 

gpd;tUtdtw;wpy; kpfr;rpwpa tpfpjk; ahJ? 

 7:13, 17:25, 7:15, 15:23 

(A) 7:13  (B) 17:25  (C) 7:15  (D) 15:23 

Ans - (C) 7:15 

39. In a mixture of 60 litres, the ratio of milk and water is 2:1. If this ratio is to be 1:2, then what is the quantity 

of water to be further added ? 

 (A) 20 l  (B) 30 l  (C) 50 l  (D) 60 l 

Ans -  (D) 60 l 

60 ypl;lh; fyitapy> ghy; kw;Wk jz;zPhpd; tpfpjk; 2:1. ,e;j tpfpfj; 1:2 Mf ,Uf;f 
Ntz;Lnkdpy; $Ljyhf Nrh;f;ff; $ba jz;zPhpd; msT ahJ? 

(A) 20  yp (B) 30 yp  (C) 50 yp  (D) 60 yp 

Ans -  (D) 60 yp 

40. Two numbers are in the ratio 3:5. If 9 be subtracted from each, then they are in the ratio 12:23. Find the 

second number. 
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 (A) 52  (B) 53  (C) 54  (D) 55 

 Ans - (D) 55 

 3:5 vd;w tpfpjj;jpy; ,U vz;fs; cssd. Mit xt;nthd;wpypUe;Jk; 9 fopf;fg;gl;lhy; mit 
12:23 vd;w tpfpjj;jpypUf;Fk;. ,uz;lhtJ vz;izf; fhz;f. 

 (A) 52  (B) 53  (C) 54  (D) 55 

 Ans - (D) 55 

41.  Sum of squares of three positive numbers is 608 and they are in the ratio 2:3:5. Then find the numbers 

 (A) 6,9,15  (B) 8,12,20  (C) 10,15,25  (D) 14,21,35 

Ans - (B) 8,12,20 

%d;W kpif vz;fspd; th;f;fq;fspd; $Ljy; 608. NkYk; mt;ntz;fspd; tpfpjq;fs; 2:3:5> vdpy; 
me;j vz;fs; ahit? 

(A) 6,9,15  (B) 8,12,20  (C) 10,15,25  (D) 14,21,35 

Ans - (B) 8,12,20 

42. If 30% of A=0.25 of B=1/5 of C, then find the ratio A:B:C 

 (A) 15:12:10  (B) 12:15:10  (C) 10:112:15  (D) 10:15:12 

 Ans - (C) 10:112:15 

 A – d; 30% = B – d; 0.25 = 1/5 C vdpy; A:B:C vd;w tpfpjj;ijf; fhz;.  

 (A) 15:12:10  (B) 12:15:10  (C) 10:112:15  (D) 10:15:12 

 Ans - (C) 10:112:15 

43. What is the third proportional to 0.34 and 0.50 ? 

 (A) 0.74  (B) 0.75  (C) 0.76  (D) 0.77 

Ans - (A) 0.74 

0.34 kw;Wk; 0.50 vd;w vz;fspd; %d;whk; tpfpjk; vd;d? 

 (A) 0.74  (B) 0.75  (C) 0.76  (D) 0.77 

Ans - (A) 0.74 

44. In a cylinder, if radius is doubled and height is halved. then what happens to the curved surfaces area ? 

 (A) Halved (B) Doubled  (C) Does not change  (D) Four times 

Ans - (C) Does not change 

xU cUisapy;> Muk; ,U klq;fhf;fg;gl;L> cauk; ghjpahf Fiwf;fgl;lhy; mjd; Gwg;gug;G 
vd;dthFk;? 

(A) ghjpahFk;      (B) ,U klq;fhFk;   

(C) khwhJ ,Uf;Fk;    (D) ehd;F klq;fhFk; 
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Ans – (C) khwhJ ,Uf;Fk; 

45. The length of side of a rhombus is 5m and one of its diagonal is 8m. then what is the length of other 

diagonal ? 

 (A) 5m  (B) 7m  (C) 6m  (D) 8m 

 Ans - (C) 6m 

 xU rha;rJuj;jpd;  gf;fj;jpd; ePsk; 5 kP> mjd; xU %iytpl;lj;jpd; ePsk; 8 kP vdpy; mjd; 
kw;nwhU %iytpl;lj;jpd; ePsk; ahJ? 

 (A) 5 kP  (B) 7 kP   (C) 6 kP  (D) 8 kP 

 Ans - (C) 6 kP 

46. A,B and C can complete a piece of work in 24, 6 and 12 days respectively. If they work together, in how 

many days they will complete the same work ? 

 (A) 1/24 day  (B) 7/24 day  (C) 24/7 days  (D) 24/11 days 

 Ans - (C) 24/7 days 

 A, B kw;Wk; C vd;gth;fs; xU Ntiyia Kbf;f KiwNa 24> 6> 12 ehl;fs; vLj;Jf; nfhs;th; 
vdpy;> mNj Ntiyia mth;fs; midtUk; ,ize;J nra;J Kbf;f vj;jid ehl;fs; 
Njitg;gLk;? 

 (A) 1/24 ehs;  (B) 7/24 ehs;  (C) 24/7 ehs;  (D) 24/11 ehs; 

 Ans - (C) 24/7 ehs; 

47. 12 men complete the 2400 sq.m ploughing work in 10 days. How many men are required to complete 3600 

sq.m ploughing work in  18 days ? 

 (A) 10 men  (B) 15 men  (C) 18 men  (D) 20 men 

 Ans - (A) 10 men 

 2400 r.kP epyj;ij 12 Ntiyahl;fs; 10 ehl;fspy; cOJ Kbg;gh;. 3600 r.kP. epyj;ij 18 
ehl;fspy; cOtjw;F vj;jid Ntiyahl;fs; Njit? 

 (A) 10 Ml;fs;  (B) 15 Ml;fs;  (C) 18 Ml;fs;  (D) 20 Ml;fs; 

 Ans - (A) 10 Ml;fs; 

48. 2 men and 7 boys can do a piece of work in 14 days, 3 men and 8 boys can do the same in 11 days. In how 

days, 3 times the work can be completed by 8 men and 6 boys ? 

 (A) 21 days  (B) 18 days  (C) 24 days  (D) 36 days 

 Ans - (A) 21 days 

 2 Mz;fs;> 7 rpWth;fs; Nrh;e;J xU Ntiyapid 14 ehl;fspy; Kbg;gh;> 3 Mz;fs;> 8 rpWth;fs; 
Nrh;e;J> mNj Ntiyia 11 ehl;fspy; nra;J Kbg;gh;. vdpy;> mNj Nghy; %d;W klq;F 
Ntiyia> 8 Mz;fs;> 6 rpWth;fs; Nrh;e;J vj;jid ehl;fspy; nra;J Kbg;gh;? 

 (A) 21 ehl;fs;  (B) 18 ehl;fs;   (C) 24 ehl;fs;  (D) 36 ehl;fs; 
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 Ans - (A) 21 ehl;fs; 

49. The length, breadth and height of a hall are 8m, 40m, 4m respectively and the hall has one door of area 3m 

x 1.5m. find the cost of painting the walls at the rate Rs.200 per square metre. 

 (A) Rs. 28,800  (B) Rs. 59,900  (C) Rs. 27,900  (D) Rs. 60,800 

 Ans - (C) Rs. 27,900 

 xU miwapd; ePsk;> mfyk; kw;Wk; cauk; KiwNa 8 kP> 10 kP> 4 kP kw;Wk; 3 kP x 1.5 kP 
gug;gsT nfhz;l xU fjTk; cs;sJ. tz;zk; G+r rJu kPl;lUf;F &. 200 nrythFk; vd;why;> 
mjd; Rth;fSf;F th;zk; G+r vt;tsT njhif nrythFk;? 

 (A) &. 28,800  (B) &. 59,900  (C) &. 27,900  (D) &. 60,800 

 Ans - (C) &. 27,900 

50. If the capacity of a cylindrical tank is 1848 m
3
 and the diameter of its base 14 m, then find the depth of the 

tank ? 

 (A) 12 m   (B) 14  m  (C) 15 m  (D) 18 m 

Ans -  (A) 12 m 

xU cUis tba njhl;bapd; nfhs;ssthdJ 1848 kP3 kw;Wk; mjDila tpl;lkhdJ 14 kP 
vdpy; mjDila Mok; ahJ? 

 (A) 12 kP  (B) 14  kP  (C) 15 kP  (D) 18 kP 

Ans -  (A) 12 kP 

51. The length of a chain used as the boundary of a semicircle park is 72 m. what is the area of the park ? 

 (A) 77 m
2
 (B) 91 m

2
   (C) 126 m

2
 (D)  308 m

2
 

 Ans - (D)  308 m
2 

 miu tl;l tbtpyhd G+q;fhtpd; Ntypahfg; gad;gLj;jg;gl;l rq;fpypapd; ePsk; 72 kP vdpy;> 
G+q;fhtpd; gug;gsT ahJ? 

 (A) 77 kP2 (B) 91 kP 2   (C) 126 kP 2 (D)  308 kP 2 

 Ans - (D)  308 kP 2 

52. Find the least number which when divided by 5,6,7 and 8 leaving a remainder 3, but when divided by 

leaves no remainder . 

 (A) 1677 (B) 1683 (C) 2523 (D) 3363 

 Ans - (B) 1683 

 xU kPr;rpW vz; 5> 6> 7 kw;Wk; 8-My; tFf;fg;gLk;nghOJ kPjp 3 MfTk;> 9-My; 
tFf;fg;gLk;nghOJ kPjk; vJTk; ,y;iy vdpy; me;j vz; ahJ? 

 (A) 1677 (B) 1683 (C) 2523 (D) 3363 

 Ans - (B) 1683 

53. Find the next number in the following series 



General Studies            Prepared By winmeen.com 
Tnpsc Group 2 Previous Questions : https://goo.gl/PYqsd7   

 

Install Winmeen Mobile App : https://goo.gl/s3YY9V                                                         Page 20 of 36 

 

 4,6,9,13 1/2 

(A) 201 1/4 (B) 22 3/4 (C) 19 (D) 17 1/2 

Ans - (A) 2011/4 

gpd;tUk; njhlhpy; mLj;J tUk; vz;iz fhz;f. 

4,6,9,13 1/2 

(A) 201 1/4 (B) 22 3/4 (C) 19 (D) 17 1/2 

Ans - (A) 2011/4 

54. Consider the following statements : 

Assertion (A) :  Scholars distinguished a culture midway between Palaeolithic and Neolithic called 

Mesolithic. 

Reason (R) : The chief characteristics Mesolithic were the stone implements used were 

extremely small made up of Chalcedony and silicate instead of quartzite. 

Select your answer according to the coding scheme below : 

(A) Both (A) and (R) are false 

(B) Both (A) and (R) are true but (R) is not the explanation for (A) 

(C) Both (A) and (R) are true and ® is the correct explanation for (A) 

(D) (A) is true but (R) is false 

Ans – (C) Both (A) and (R) are true and ® is the correct explanation for (A) 

fPo;f;fz;l thf;fpaq;fis ftdp   

$w;W (A) : gioa fw;fhyj;jpw;Fk; Gjpa fw;fhyj;jpw;Fk; ,ilg;gl;l ehfhpf fhyj;ij 
,ilfw;fhyk; vd; mwpQh;fs; NtWgLj;Jfpd;wdh;. 

fhuzk; (R) : ,ilf;fw;fhyj;jpd; Kjd;ik gz;ghff; fUjg;gLgtd gbff;fw;fSf;Fg; gjpyha 
ePyr; rhaKila ntz;zpw kzpf; fy;Yk; kw;Wk; kzw; rj;Jld; G+rg;gl;lJk; 
nfhz;l kpfTk; rpwpa mstpyhd fw;fUtpfs; MFk;. 

fPo;f;fz;l FwpaPLfis nfhz;L rhpahd tpilia Njh;e;njLf;fTk;. 

(A) (A) kw;Wk; (R) ,uz;Lk; jtW 
(B) (A) kw;Wk; (R) rhp Mdhy; (R) vd;gJ (A) tpd; rhpahd fhuzk; my;y. 
(C) (A) kw;Wk; (R) rhp (R) vd;gJ (A) tpd; rhpahd fhuzk; jhd;. 
(D) (A) rhp Mdhy; (R) jtW 

Ans – (C)(A) kw;Wk; (R) rhp (R) vd;gJ (A) tpd; rhpahd fhuzk; jhd;. 

55. Match the following : 

 (a) Na and K – (i) Obtained by electrolysis of fused salt 

 (b) Cu and g – (ii) Occur only in native state 

 (c) Au and Pt – (iii) Occur both native and combined state 

 (d) Na and Ca – (iv) Reducing agent in metallurgy 
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 (e) Al and Mg – (v) Occur only in combined state 

 (A) (a)-(v) (b)-(iii)  (c)-(ii)  (d)-(i)  (e)-(iv) 

 (B) (a)-(iv) (b)-(i)  (c)-(ii)  (d)-(iii)  (e)-(v) 

 (C) (a)-(ii) (b)-(iii)  (c)-(v)  (d)-(iv)  (e)-(i) 

 (D) (a)-(iii) (b)-(ii)  (c)-(i)  (d)-(v)  (e)-(iv) 

Ans - (A) (a)-(v) (b)-(iii)  (c)-(ii)  (d)-(i)  (e)-(iv) 

 nghUj;Jf : 

 (a) Na kw;Wk; K  - (i) cUfpa cg;ig kpd;dhw;gFj;jypy; fpilf;fpwJ. 

 (b) Cu kw;Wk; Ag - (ii) jdpj;j epiyapy; kl;Lk; fpilf;fpwJ. 

 (c) Au kw;Wk; Pt - (iii) jdpj;j kw;Wk; Nrh;e;j epiyapy; fpilf;fpwJ. 

 (d) Na kw;Wk; Ca - (iv) cNyftpaypy; xLf;F fuzp 

 (e) Al kw;Wk; Mg - (v) Nrh;e;j epiyapy; kl;LNk fpilf;fpwJ. 

 

 (A) (a)-(v) (b)-(iii)  (c)-(ii)  (d)-(i)  (e)-(iv) 

 (B) (a)-(iv) (b)-(i)  (c)-(ii)  (d)-(iii)  (e)-(v) 

 (C) (a)-(ii) (b)-(iii)  (c)-(v)  (d)-(iv)  (e)-(i) 

 (D) (a)-(iii) (b)-(ii)  (c)-(i)  (d)-(v)  (e)-(iv) 

Ans - (A) (a)-(v) (b)-(iii)  (c)-(ii)  (d)-(i)  (e)-(iv) 

56. Which of the following is/are wrong ? 

 I. Mg2C3 on hydrolysis gives acctylene 

 II. BenC on hydrolysis gives methane 

 III. Al4C3 on hydrolysis gives allylene 

(A) I and II (B) II and III (C) I and III (D) I,II and III 

Ans - (C) I and III 

 gpd;tUtdtw;Ws; jtwhdit vJ/vit? 

I. Mg2C3 ePuhw;gFg;G mile;J mrpl;byPidj; jUk;. 

 II. BenC ePuhw;gFg;G mile;J kPj;Njd; ntspapLk; 

 III. Al4C3 ePuhw;gFg;G mile;J my;yPiyidj; jUk;. 

(A) I kw;Wk; II (B) II kw;Wk; III (C) I kw;Wk; III  (D) I,II kw;Wk; III 

Ans - (C) I kw;Wk; III 

57.  
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58. Agricultural unemployment may be classified into : 

 I. Seasonal unemployment 

 II. Disguised unemployment 

 III. Chronic unemployment 

 Which is the correct answer ? 

(A) I and II only (B) II and III omly (C) I and III only (D) I,II and III 

Ans - (D) I, II and III 

Tptrhaj;Jiwapy; Nityapd;ikia fPo;f;fz;lthW tifg;gLj;jyhk;. 

I. gUtfhy Ntiyapd;ik 
II. kiwKf Ntiyapd;ik 
III. ePbj;j Ntiyapd;ik 

rhpahd gjpiy Fwpg;gplTk; 

(A) I kw;Wk; II kl;Lk;    (B) II kw;Wk; III kl;Lk;  

(C) I kw;Wk; III kl;Lk;    (D) I,II kw;Wk; III 

Ans - (D) I, II kw;Wk; III 

59. Fill up the blanks : 

National population policy adopted in 2000 with a view to encourage ___________ and aim at stabilizing 

the population by _____________ 

(A) Two child norm, 2020  (B) One child norm, 2030 

(C) Two children norm, 2046  (D) One child norm, 2050 

Ans - (C) Two children norm, 2046 

fhypaplq;fis epug;Gf : 

FLk;gj;jpw;F -------------- vd;gij Cf;Ftpf;fTk; kf;fs; njhifia ---------------k; Mz;by; 
epiyg;gLj;jTk; 2000-k; Mz;bd; Njrpa kf;fs; njhif nfhs;ifapy; Vw;Wnfhs;sg;gl;lJ. 

(B) ,uz;L Foe;ij jpl;lk;, 2020  (B) xU Foe;ij jpl;lk;, 2030 

(C) ,uz;L Foe;ij jpl;lk;, 2046  (D) xU Foe;ij jpl;lk;, 2050 

Ans - (C) ,uz;L Foe;ij jpl;lk;, 2046 

60. Match the following and select the correct answer 

 (a) Taxes revenue  1. Provided funds 

 (b) Capital receipts  2. Taxes on income and expenditure 

 (c) Non-plan expenditure 3. Sales tax 

 (d) Value added tax  4. Interest payments 
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  (a) (b) (c) (d) 

 (A)  4 3 2 1 

 (B) 1 3 4 2 

 (C) 2 1 4 3 

 (D) 2 3 4 1 

 Ans - (C) 2 1 4 3 

 gpd;tUtdtw;iwg; nghUj;jp rhpahd tpilia Njh;T nra;f. 

 (a) thp tUtha;   1. tUq;fhy itg;G epjp 

 (b) %yjd tUtha;   2. tUtha; kw;Wk; nryT kPjhd thpfs; 

 (c) jpl;lkpy;yh nryT   3. tpw;gid thp 

 (d) kjpg;G $l;ba thp   4. tl;b nrYj;Jjy;fs; 

  (a) (b) (c) (d) 

 (A)  4 3 2 1 

 (B) 1 3 4 2 

 (C) 2 1 4 3 

 (D) 2 3 4 1 

 Ans - (C) 2 1 4 3 

61. The National Statistical Commission of India was healed by 

 (A) Monteck Singh Ahulwaliya   (B) C. Rengarajan 

 (C) Development finance   (D) V.K.R.V. Rao 

 Ans - (B) C. Rengarajan 

 ,e;jpahtpd Njrpa Gs;sp tptu Mizak; ,tuJ jiyikapy; mike;jpUe;jJ. 

 (A) khd;nlf; rpq; mYthypah   (B) rp. nuq;fuh[d; 

 (C) uFuhk; uh[d;    (D) tp.Nf.Mh;.tp.uht;. 

 Ans - (B) rp. nuq;fuh[d; 

62. The structure of Indian Financial System does not included 

 (A) Industrial finance  (B) Agricultural finance 

 (C) Development finance (D) Deficit finance 

 Ans - (D) Deficit finance 

 ,e;jpa epjp Kiwapd; fl;likg;G ,jid cs;slf;fpaJ my;y. 

 (A) njhopy; epjp    (B) Ntshz; epjp 
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 (C) tsh;r;rp epjp    (D) gw;whf;Fiw epjp 

 Ans - (D) gw;whf;Fiw epjp 

63. The MGNREGS differs from other poverty alliviation measures in the following respects 

 I. It focuses on income generation to the targeted poor. 

 II. It is built around the nations of citizenship and entitlement. 

 III. It facilitates disclosure by means of regular and social audict. 

 IV. It opens as per the dirctions of the State/Central Governments/ 

(A) I and II (B) II and III (C) I and IV (D) II and IV 

Ans - (B) II and III 

MGNREGS gpw Vo;ik ePf;Fk; jpl;lq;fspypUe;J fPo;f;fz;l tpjj;jpy; NtWgLfpwJ. 

I. MGNREGS Fwpg;gpl;l Viofspd; tUthapid mjpfhpf;Fk; Nehf;fKilaJ. 
II. ,J Fbkf;fs; kw;Wk; mbg;gil chpikia Mjhukhff; nfhz;L cUthf;fg;gl;LJ. 
III. Njhlh;e;j kw;Wk; rKjha fz;fhzpg;gjw;fhd topKiwfis cWjp nra;fpwJ. 
IV. khepy kw;Wk; kj;jpa muRfspd; MizfSf;fpzq;f nray;gLfpwJ. 

(A) I kw;Wk; II  (B) II kw;Wk; III (C) I kw;Wk; IV  (D) II kw;Wk; IV 

Ans - (B) II kw;Wk; III 

64. Justice D.P. Wadhwa committee was appointed by the Supreme Court to examine 

 (A) Insurance schemes 

 (B)The level of black money in the country  

 (C) The functioning of rural development programmes 

 (D) The Public Distribution System 

 Ans - (D) The Public Distribution System 

 cr;r ePjpkd;wj;jhy; ,ij Muha;tjw;fhf ePjpaurh; D.P. thj;th FO mikf;fg;gl;lJ. 

 (A) fhg;gPl;Lj; jpl;lq;fs;    (B) ehl;bd; fUg;Gg; gzj;jpd; msT 

 (C) fpuhk tsh;r;rpj; jpl;lq;fspd; nray;thLfs; (D) nghJ tpepNfhf Kiw  

 Ans – (D) nghJ tpepNfhf Kiw 

65. The Nutrient Based Subsidy(NBS) policy for fertilizers was implemented in India in 

 (A) 1996 (B) 1977 (C) 1991 (D) 2010 

 Ans - (D) 2010 

,e;jpahtpy; cuq;fSf;fhd Cl;lr;rj;jpd; mbg;gilapyhd khdpaf; nfhs;if Jtq;fpa Mz;L. 

 (A) 1996 (B) 1977 (C) 1991 (D) 2010 

 Ans - (D) 2010 
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66. Which Indian city has beeb declared as the cleanest city in the ‘Swachh Bharat’ ranking 2015 ? 

 (A) Kochi (B) Thiruvananthapuram (C) Bengaluru  (D) Mysuru 

 Ans - (D) Mysuru 

‘Rj;jk; nra; ,e;jpah’ gl;baypy; ve;j ,e;jpa efuk; kpf Rj;jkhd efuk; vd;W 2015y; Njh;T 
nra;ag;gl;Ls;sJ? 

 (A) nfhr;rp     (B) jpUtde;jGuk; 

 (C) ngq;fSU     (D) ik#U 

 Ans – (D) ik#U 

67. Who is the chairman of the 20
th

 law commission of India ? 

 (A) Justice. Ajit Prakash Shah  (B) Justice. Srikrishna 

 (C) Justice. Katju   (D) Justice. K. Balakrishnan 

 Ans - (A) Justice. Ajit Prakash Shah 

 ,e;jpahtpd; 20tJ rl;lf;FOtpd; jiyth; ahh;? 

 (A) ePjpgjp. m[Pj; gpufh\; \h   (B) ePjpgjp. = fpU\;zh 

 (C) ePjpgjp. fl;[P     (D) ePjpgjp K. ghyfpU\;zd; 

 Ans – (A) ePjpgjp. m[Pj; gpufh\; \h 

68. Recently Union Government has decided to develop a city as spiritual capital of the country. Which among 

the following is this city ? 

 (A) Ujjain  (B) Varanasi  (C) Nasik  (D) Bodhgaya 

 Ans - (D) Bodhgaya 

mz;ikf; fhyj;jpy; kj;jpa murhdJ ek; ehl;bd; xU efuj;jpid Md;kPf Gdpjj; jiyefukhf 
cUthf;f KbntLj;Js;sJ. fPo;f;fz;ltw;Ws; mJ ve;j efukhFk;? 

 (A) c[;n[a;d;   (B) thuzhrp  (C) ehrpf;  (D) Gj;jfah 

 Ans – (D) Gj;jfah 

69. India’s largest telecom operator is  

 (A) TATA  (B) Bharati Airtel  (C) Reliance  (D) Aircel 

 Ans  - (B) Bharati Airtel 

 ,e;jpahtpd; kpfg;nghpa njhiyj; njhlh;G epWtdk; vJ? 

 (A) lhlh  (B) ghujp Vh;nly;  (C) hpiyad;];  (D) Vh;nly; 

 Ans – (B) ghujp Vh;nly;  

70. Which corporation in Tamil Nadu was awarded the best corporation award for the year 2015 ? 

 (A) Chennai  (B) Vellore  (C) Madurai  (D) Tirunelveli 
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 Ans - (C) Madurai 

jkpo;ehl;bd; ve;j khefuhl;rpf;F 2015 Mk; Mz;bw;fhd rpwe;j khefuhl;rp tpUij ngw;wJ? 

 (A) nrd;id  (B) NtY}h;  (C) kJiu  (D) jpUney;Ntyp  

 Ans – (C) kJiu 

71. Every year 13
th
 of August is observed as 

 (A) Voluntary Blood donation day  (B) World Hepatitia day 

 (C) Swachch Bharat day    (D) Organ donation day 

 Ans - (D) Organ donation day 

 xt;nthU Mz;Lk; ‘Mf];l; - 13’ ----------------- ehshf mDrhpf;fg;gLfpwJ? 

 (A) jd;dhh;t ,uj;jk; toq;Fk; ehs;   (B) cyf fy;yPuy; mow;r;rp ehs; 

 (C) J}a;ik ,e;jpah ehs;    (D) cWg;G jhdk; ehs;. 

 Ans – (D) cWg;G jhdk; ehs;. 

72. ‘Internationa Day of the Disappeared’ observed by United Nations Organization every year fall on 

 (A) November 30 (B) December 26 (C) August 30 (D) October 25 

 Ans - (C) August 30 

 xt;nthU Mz;Lk; If;fpa ehLfs; rigapdhy; ‘mfpy cyf fhzhky; Nghdth; jpdk;’ 
mdrhpf;fg;gLk; ehs;. 

 (A) etk;gh; 30  (B) brk;gh; 26  (C) Mf];l; 30  (D) mf;Nlhgh; 25 

 Ans - (C) Mf];l; 30 

73. The President of Sri Lanka as on June 2015 

 (A) Maithripala Sirisena   (B) Ravi Karunanayake 

 (C) Mahinda Samarasinghe  (D) Mahinda Amaraweera 

 Ans - (A) Maithripala Sirisena  

 [Pd; 2015y; =yq;fhtpd; [dhjpgjp 

 (A) ikj;hpghyh rphpNrdh   (B) utp fUzhehaNf 

 (C) k`pe;jh rkurpq;Nf   (D) k`pe;jh mkutPuh 

 Ans – (A) ikj;hpghyh rphpNrdh 

74. Sunhak Peace Prize was won by 

 (A) Ms. Zhanna Nemtsova  (B) Zaina Erhain 

 (C) Dr. Modadugu Vijay Gupta  (D) Mr. Zia Haider Rahman 

 Ans - (C) Dr. Modadugu Vijay Gupta 
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 Rd;`hf; mikjp ghprpid jl;br; nrd;wth; ,th; 

 (A) jpU rhdh nek;Nrhth   (C) i[dh vh;`a;d 

 (C) lhf;lh; nkhlhLF tp[a; Fg;jh  (D) jpU [ah i`jh; u ;̀khd; 

 Ans – (C) lhf;lh; nkhlhLF tp[a; Fg;jh  

75. Which gas has been recently discovered in planet mars ? 

 (A) Hydrogen Sulphide  (B) Ammonia  

 (C) Methane   (D) Ethane 

 Ans - (C) Methane 

 rkPgj;jpy; nrt;tha; fpufj;jpy; ve;j thA fz;lwpg;gl;Ls;sJ? 

 (A) i`lu[d; ry;igL   (B) mNkhdpah 

 (C) kPjNjd;     (D) <j;Njd; 

 Ans – (C) kPjNjd; 

76. Which Indian Temple was awarded ‘Award of Excellence’ for conservation by UNESCO in the year 2015, 

in Bangkok ? 

 (A) Guruvayoor Temple, Guruvayoor 

 (B) Vadakkunnathan Temple, Thrissur 

 (C) Padmanabhaswamy Temple, Trivandrum 

 (D) Tirumala Temple, Tirupathi 

 Ans - (B) Vadakkunnathan Temple, Thrissur 

 ve;j ,e;jpa NfhapYf;F guhkhpg;gpw;fhd 2015Mk; Mz;bd; jiy rpwe;j tpUJ UNESCOthy; 
Ngq;fhf;fpy; toq;fg;gl;lJ? 

 (A) FUthA+h; Nfhapy;>    (B) tlf;Fd;ehjd; Nfhapy;> jphp];#h; 

 (C) gj;kehgRthkp Nfhapy;> jpUtde;jGuk; (D) jpUkyh Nfhapy> jpUg;gjp 

Ans – (B) tlf;Fd;ehjd; Nfhapy;> jphp];#h; 

77. Which country devalued its own currency in August 2015 ? 

 (A) India  (B) Japan (C) Germany  (D) China 

 Ans - (D) China 

 ve;j ehL jd;Dila gzj;jpd; kjpg;gpid Mf];l; 2015y; jhdhfNt Fiwj;jJ? 

 (A) ,e;jpah  (B) [g;ghd;  (C) n[h;kdp  (D) rPdh 

Ans – (C) n[h;kdp 

78. The 50
th
 Anniversary of 1965 Indo-Pak war was observed on 



General Studies            Prepared By winmeen.com 
Tnpsc Group 2 Previous Questions : https://goo.gl/PYqsd7   

 

Install Winmeen Mobile App : https://goo.gl/s3YY9V                                                         Page 28 of 36 

 

 (A) 27 August 2015  (B) 30 July 2015 

 (C) 30 August 2015  (D) 28 August 2015 

 Ans - (D) 28 August 2015 

 1965 ,e;jpa ghfp];jhd; Nghhpd; 50-MtJ Mz;L jpdk; mDrhpf;fg;gl;l ehs; 

 (A) 27 Mf];l; 2015  (B) 30 [Piy 2015 

 (C) 30 Mf];l; 2015  (D) 28 Mf];l; 2015 

 Ans - (D) 28 Mf];l; 2015 

79. Match the Android OS version with their names : 

  OS version      Name 

(a) Android 6.0    1. Kitkat 

(b) Android 5.0    2. Lollipop 

(c) Android 4.4    3. Jelly Bean 

(d) Android 4.3    4. MarshMallow 

(a) (b) (c) (d) 

(A)  4 2 3 1 

(B)  4 3 1 2 

(C)  4 2 1 3 

(D)  3 1 2 4 

Ans - (C)  4 2 1 3 

Md;l;uha;L ,aq;F nray;Kiwapid mtw;wpd; ngah;fSld; rhpahfg; nghUj;Jf : 

 ,aq;F nray;ghL   ngah; 

(a) Md;l;uha;L 6.0    1. fpl;Nfl; 

(b) Md;l;uha;L 5.0    2. yhypghg;  

(c) Md;l;uha;L 4.4    3. n[y;yp gPd; 

(d) Md;l;uha;L 4.3    4. khh;];NkNyh 

(a) (b) (c) (d) 

(A)  4 2 3 1 

(B)  4 3 1 2 

(C)  4 2 1 3 

(D)  3 1 2 4 

Ans - (C)  4 2 1 3 



General Studies            Prepared By winmeen.com 
Tnpsc Group 2 Previous Questions : https://goo.gl/PYqsd7   

 

Install Winmeen Mobile App : https://goo.gl/s3YY9V                                                         Page 29 of 36 

 

80. Government of Tamilnadu awards Dr. A.P.J. Abdul Kalam award for a Tamilian foor his/her contribution 

to 

 (A) Development of rural health services 

 (B) Scientific, art and literature development, humanities and student welfare 

 (C) Tamiil literature development 

 (D) Development of Sports 

 Ans - (B) Scientific, art and literature development, humanities and student welfare 

 jkpof muR Dr. V.gp.N[. mg;Jy; fyhk; tpUij xU jkpoUf;F ,j;Jiwapy; gq;fspg;gpw;fhf 
toq;FfpwJ. 

 (A) fpuhkg;Gw Rfhjhu Nkk;ghL 

 (B) mwptpay;> fiy kw;Wk; ,yf;fpa tsh;r;rp> kdpj Neak; kw;Wk; khzth; eyd; 

 (C) jkpo; ,yf;fpa tsh;r;rp 

 (D) tpisahl;Lj; Jiw Kd;Ndw;wk; 

 Ans – (B) mwptpay;> fiy kw;Wk; ,yf;fpa tsh;r;rp> kdpj Neak; kw;Wk; khzth; eyd; 

81. Identify from the options the name of the Central government portal for students looking for educational 

loans 

 (A) Vidya Vikas   (B) Edu Care   

(C) Vidya Lakshmi   (D) Shodhganga 

Ans - (C) Vidya Lakshmi 

khzth;fspd; fy;tpf; fld; njhlh;ghd kj;jpa murpd; jfty; fPo;f;fz;ltw;Ws; vjdpy; cs;sJ. 
vd;gijf; fz;lwpf. 

(A) tpj;a tpfh\;    (B) vL Nfh; 

(C) tpj;a yl;Rkp    (D) Nrhj;fq;fh  

Ans – (C) tpj;a yl;Rkp 

82. Which of the following day is observed as the National Statistics Day ? 

 (A) June, 8 (B) June, 29  (C) July, 1  (D) October, 5 

 Ans - (B) June, 29 

 fPo;fz;l ve;j jpdk; “Njrpa Gs;spay; jpdkhf” mDrhpf;fg;gLfpwJ? 

 (A) [Pd;, 8 (B) [Pd;, 29  (C) [Piy, 1  (D) mf;Nlhgh;, 5 

 Ans - (B) [Pd;, 29 

83. ‘Pay Zapp’ a mobile application to make digital payments was started by which Bank ? 

 (A) SBI  (B) ICICI (C) HDFC (D) HSBC 
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 Ans - (C) HDFC 

fzpg;nghwp %yk; gzk; nrYj;j ‘Pay Zapp’ vd;Dk; ifNgrp nraypiy ve;j tq;fp 
Jtq;fpAs;sJ? 

(A) v];.gp.I   (B) I.rp.I.rp.I   

(C) n`r;.b.vg;.rp.  (D) n`r;.v];.gp.rp 

Ans – (C) n`r;.b.vg;.rp. 

84. In the Australian Federal elections 2015 for the Prime Minister of Australia, who emerged as winner ? 

 (A) Tony Abbot   (B) Kevin Rudd 

 (C) Malcolm Turnbull   (D) Julia Gillard 

 Ans - (C) Malcolm Turnbull 

 2015 M];jpNuypa /ngnlnuy; Njh;jypy; M];jpNuypa gpujk ke;jphpahf ntw;wp ngw;wth; ahh;? 

(A) Nlhdp mNghl;    (B) nftpd; &L 

(C) khy;fhk; Nlh;d;Gy;    (D) [Pypah fpy;yhh;L 

Ans – (C) khy;fhk; Nlh;d;Gy; 

85. 2020 Olympic games will be held at 

 (A) Beijing  (B) New York  (C) Chicago  (D) Tokyo 

 Ans - (D) Tokyo 

 2020 xypk;gpf; tpisahl;Lg; Nghl;b eilngWk; ,lk; 

 (A) nga;[pq;  (B) epA+ahh;f  (C) rpfhNfh  (D) Nlhf;fpNah 

Ans – (D) Nlhf;fpNah 

86. Nobel Prize 2015 in Physics was given for the discovery of  

 (A) Path of electrons in electro magnetic wavws 

 (B) Path of neutrons in magnetic fields 

 (C) Proton oscillation 

 (D) Neutrino oscillation 

 Ans - (D) Neutrino oscillation 

 ,aw;gpaYf;fhd Nehgy; ghpR 2015 ,f;fz;Lgpbg;gpw;fhf toq;fg;gl;Ls;sJ? 

(A) kpd;fhe;j miyfspy; vnyf;l;uhd;fspd; ghij 
(B) fhe;j tay; gug;Gfspy; epA+l;uhd;fspd; ghij 

(C) GNuhl;lhd; MrpNyrd; 
(D) epA+l;hpNdh MrpNyrd; 

Ans – (D) epA+l;hpNdh MrpNyrd; 
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87. In October 2015 Russia’s Sergey Karjakin won the World cup for 

 (A) TableTennis  (B) Chess 

 (C) Golf   (D) Polo 

 Ans - (B) Chess 

 u\;ahtpd; nrh;[p fh;[hfpd; mf;Nlhgh; 2015-y; ,t;tpisahl;bd; cyff; Nfhg;igia ntd;wth; 

 (A) Nki[ nld;dp];    (B) rJuq;fk; 

 (C) Nfhy;/g;     (D) NghNyh 

Ans – (B) rJuq;fk; 

88. The Administrative Reforms Commission of India was set up on 5 Jan. 1966 under the Chairmanship of 

 (A) K. Hanumanthaiya  (B) H.C. Mathur   

(C) G.S. Pathak   (D) Morarji R. Desai  

Ans - (D) Morarji R. Desai 

1966-k; Mz;L [dthp jpq;fs; 5-k; Njjp Vw;gLj;jg;gl;l ,e;jpa eph;thf rPh;jpUj;j Mizaj;jpd; 
jiyth; 

(A) K. `Dke;ja;ah    (B) H.C. khj;J}h; 

(C) G.S. ghj;jf;     (D) nkhuhh;[p R. Njrha; 

Ans – (D) nkhuhh;[p R. Njrha; 

89. “The Supreme Court in the Indian union has more powers than any other than any other Supreme Court in 

any part of the world” – Who said so ? 

 (A) S.M. Sikri  (B) Sir Alladi Krishnaswamy Ayyar 

 (C) M.C. Setalwad (D) Justice Kania 

 Ans - (B) Sir Alladi Krishnaswamy Ayyar 

 “,e;jpa If;fpaj;jpd; cr;r ePjpkd;wk; cyfpd; ve;j ehl;bYs;s cr;r ePjpkd;wj;ij tplTk; mjpf 
mjpfhuk; cilaJ MFk;”> ,t;thW $wpath; ahh;? 

 (A) v];.vk;.rpf;hp    (B) rh; my;yhb fpU\;zRthkp ma;ah; 

 (C) vk;.rp.nrly;tj;    (D) ePjpgjp fhdpah 

Ans – (B) rh; my;yhb fpU\;zRthkp ma;ah; 

90. Consider the following two statements consisting of Assertion (A)) and Reason (R) and select your answer 

using the coodes given below. 

Assertion (A) : The administrative reforms commission recommended Lokpal and Lokayukta 

Reasoning (R) : These are for the Redressal of citizens grievances. 

(A) Both A and R are correct and R is the correct explanation of A 
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(B) Both A and R are correct but R is not the correct explanation of A 

(C) A is True but R is false 

(D) A is False but R is correct 

Ans – (A) Both A and R are correct and R is the correct explanation of A 

gpd;tUk; ,U thf;fpaq;fspy; nfhLf;fg;gl;Ls;s $w;W (A) fhuzk; (R) Mfpaitfisf; fUj;jpy; 
nfhz;L fPo;fhZk; njhFg;GfspypUe;J cq;fs; tpilia njhpT nra;f. 

fUj;J (A)  : Nyhf;ghy; kw;Wk; Nyhf; MAf;jhit Vw;gLj;Jtjw;f ephthf rPh;jpUj;j Mizak; 
ghpe;Jiuj;jJ. 

fhuzk; (R) : ,itfs; Fbkf;fspd; Fiwfis Nghf;Ftjw;fhf cs;sd. 

(A) A kw;Wk; R Mfpa ,uz;Lk; rhpahFk; kw;Wk; R vd;gJ A apd; rhpahd tpsf;fkhFk;. 
(B) A kw;Wk; R Mfpa ,uz;Lk; rhpahFk; kw;Wk; R vd;gJ A apd; rhpahd tpsf;fky;y. 
(C) A rhpahFk; Mdhy; R jtW MFk; 
(D) A jtW MFk; Mdhy; R rhpahFk; 

Ans – (A) A kw;Wk; R Mfpa ,uz;Lk; rhpahFk; kw;Wk; R vd;gJ A apd; rhpahd tpsf;fkhFk;. 

91. Which one of the following is not correctly matched ? 

 (A) Article 153 – Office of the Governor 

 (B) Article 156 – Term of the Governor 

 (C) Article 154 – Executive authority of Governor 

 (D) Article 155 – Removal of Governor 

 Ans - (D) Article 155 – Removal of Governor 

 gpd;tUgtw;Ws; jtwhf ,izf;fg;gl;Ls;sJ vJ? 

 (A) tpjp 153-MSeh; gjtp    (B) tpjp 156-MSeh; gjtpf;fhyk; 

 (C) tpjp 154-MSeh; eph;thf mjpfhuk;   (D) tpjp 155 – MSeh; gjtp ePf;fk; 

Ans – (D) tpjp 155 – MSeh; gjtp ePf;fk; 

92. Which one of the following statement is/are true with regard to formulation of the Government ? 

(A) There is a Rule in the Business of the Government which mentions that single largest party that gets 

majority will form the government 

(B) There is no written rules on inviting the single largest party by the 2
nd

 largest party to form the 

government. It is a convention 

(C) There is a  provision in Part I of the Constitution 

(D) Representation of Peoples Act provides for inviting the longest party to form the government 

Ans - (B) There is no written rules on inviting the single largest party by the 2
nd

 largest party to form the 

government. It is a convention 

Murhqfk; Vw;gLj;JtJ Fwpj;J fPo;f;fz;l ve;j $w;W/$w;Wf;fs; cz;ik? 
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(A) mhpjp ngUk;ghd;ik ngw;w fl;rpahdJ th;j;jf murhq;fj;ij mikf;Fk; vd;W mur 
nray;Kiw tpjpapy; Fwpg;gplg;gl;bUf;fpwJ. 

(B) mhpjp ngUk;ghd;ik ngw;w fl;rpNah (m) mjw;F mLj;j ,uz;lhtJ epiyapy; ,Uf;Fk; 
(C) murpayikg;gpd; gFjp I-y; ,jw;fhd tpjp ,Uf;fpwJ. 
(D) kf;fs; gpujpepjp rl;lj;jpy; mhpjp ngUk;ghd;ik ngw;w fl;r> murhq;fk; mikf;f 

miof;fg;gLfpwJ vd;w $Wfpwhh;. 
 

Ans – (B) mhpjp ngUk;ghd;ik ngw;w fl;rpNah (m) mjw;F mLj;j ,uz;lhtJ epiyapy; ,Uf;Fk; 

93. Match List – I with List – II : 

  Laws      Years 

(a) The Banking Companies Ordinance   1. 1966 

(b) Special Bearers Bonds Ordinance   2. 1980 

(c) Unlawful activities Prevention ordinance  3. 1984 

(d) Terrorist affected areas ordinance   4. 1981 

  (a) (b) (c) (d) 

 (A) 4 2 3 1 

 (B) 3 1 2 4 

 (C)  2 4 1 3 

 (D) 1 3 4 2 

 Ans – (C)  2 4 1 3 

 gl;bay; I-I gl;bay; II-cld; nghUj;Jf : 

   rl;lk;    tUlq;fs; 

(a) tq;fp FOkq;fs; mtru rl;lk;   1. 1966 

(b) rpwg;G gpizKwp gj;jpuq;fs; mtrurl;lk;  2. 1980 

(c) rl;lj;jpw;F Gwk;ghd eltbf;iffis  

jLf;Fk; rl;lk;     3. 1984 

(d) jPtputhjpfshy; ghjpf;fg;gl;l gFjpfs; 
mtru rl;lk;     4. 1981 

  (a) (b) (c) (d) 

 (A) 4 2 3 1 

 (B) 3 1 2 4 

 (C)  2 4 1 3 

 (D) 1 3 4 2 

 Ans – (C)  2 4 1 3 

94. The protection of Civil Rights Act came into force on 

 (A) 19
th
 December 1974    (B) 19

th
 November 1976 
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 (C) 19
th
 December 1975    (D) 19

th
  November 1977 

 Ans - (B) 19
th
 November 1976 

 Fbik chpikfs; ghJfhg;G rl;lk; mKYf;F nfhz;L tug;gl;l ehs; 

 (A) 19
th
 brk;gh; 1974    (B) 19

th
 etk;gh; 1976 

 (C) 19
th
 brk;gh; 1975    (D) 19

th
  etk;gh; 1977 

 Ans - (B) 19
th
 etk;gh; 1976 

95. Who one of the following persons is the ex-officio chairman of the rules Committee, General Purpose 

Commisttee and Business Advisory Committee? 

 (A) The Speaker   (B) A member elected by the house 

 (C) The Deputy Speaker   (D) A member of Ruling Party 

 Ans – (A) The Speaker  

gpd;tUgtUs; vth; xUth;> tpjpKiwfs; FO> nghJ Nehf;fq;fs; kPjhd FO> gzp 
MNyhridf;FO Mfpatw;wpd; gjtp topj;jiyth; Mth;? 

(A) rghehafh;    (B) rigahy; Njh;e;njLf;fg;gl;l cWg;gpdh; xUth; 

(C) Jiz rghehafh;   (D) MSq;fl;rp cWg;gpdh; xUth;. 

Ans – (A) rghehafh; 

96. Match the following – Establishment of state and choose the correct one : 

      State 

(a) 36th Amendment   1. Goa 

(b) 13
th
 Amendment   2. Manipur and Tripura 

(c) 27
th
 Amendment    3. Sikkim 

(d) 56
th
 Amendment   4. Nagaland 

(a) (b) (c) (d) 

 (A) 3 4 2 1 

 (B) 1 3 4 2 

 (C) 2 3 1 4 

 (D) 1 2 3 4 

 Ans - (A) 3 4 2 1 

 gpd;tUtdtw;Ws; khepyq;fs; mikg;gJ Fwpj;J rhpahdij Njh;T nra;f. 

      khepyq;fs; 

 (a) 36tJ rPh;jpUj;jk;   1. Nfhth 

 (b) 13tJ rPh;jpUj;jk;   2. kzpg;G+h; & jphpGuh 

 (c) 27tJ rPh;jpUj;jk;   3. rpf;fpk; 
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 (d) 56tJ rPh;jpUj;jk;   4. ehfhyhe;J  

(a) (b) (c) (d) 

 (A) 3 4 2 1 

 (B) 1 3 4 2 

 (C) 2 3 1 4 

 (D) 1 2 3 4 

 Ans - (A) 3 4 2 1 

97. Which of the following are major features of the constitutions of Lokpal and Lokayukta and recommended 

by the Administrative Reforms commission? 

 1. They should be demonstrably independent and impartial 

 2. They should compare with the highest judicial functionary in the country 

 3. They should be directly accountable to parliament 

 4. Their appointment should as far as possible be non-political 

(A) 1 and 4      (B) 1, 2 and 4   

(C) 1,2, 3 and 4      (D) None of the above (or) 1, 2 and 3 

And - (B) 1, 2 and 4   

eph;thf rPh;jpUj;j Mizaj;jhy; ghpe;Jiu nra;ag;gl;l mikg;Gfshd Nyhf;ghy; kw;Wk; Nyhf; 
MAf;jhtpd; (kf;fs; tPuh; kw;Wk; kf;fs; tpopg;ghsh;) Kf;fpa gz;Gfs; fPo;f;fz;ltw;Ws; vJ vd 
$wTk;? 

1. jd;dpr;irahfTk; ghugl;rkw;w KiwapYk; nray;gLjy; 
2. ehl;by; cr;rePjpkd;wj;jpd; nray;ghLfSld; xg;gplg;gly; 
3. ghuhSkd;wj;jpw;F gjpyspf;ff; $bath;fs; 
4. mth;fsJ epakdk; murpay; rhuhjthW ,Uf;f Ntz;Lk;. 

(A) 1 kl;Lk; 4     (B) 1, 2 kl;Lk; 4   

(C) 1,2, 3 kl;Lk;  4    (D) Nkw;fz;l vJTkpy;iy (m) 1, 2 kl;Lk; 3 

Ans - (B) 1, 2 kl;Lk; 4   

98.  

99. Consider the following pairs : 

 I. thallophyte   - Algae and Fungi 

 II. Tracheophyta  - All vascular plants 

III. Bryophyta  - Liver worts and Fungi 

IV. Pteridophyta - Mosses and Mushrooms 

Which of the pair given above is/are correct? 
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(A) III and IV    (B) I and II 

(C) I and IV    (D) II and III 

Ans - (B) I and II 

gpd;tUk; ,izfis fUj;jpy; nfhs;f : 

I. jhNshigl;lh  - Myfhf;fs; kw;Wk; G+Q;iQfs; 
II. buf;fpNahigl;lh - th];Fyhh; jpRf;fs; cila midj;J jhtuq;fs; 
III. gpiuNahigl;lh - ypth;Nthl;]; kw;Wk; G+Q;iQfs; 
IV. nlhpNlhigl;lh  - kh];fs; kw;Wk; fhshd;fs; 

Nkw;Fwpg;gpl;l ,izfspy; vJ rhp? 

(A) III kw;Wk; IV    (B) I kw;Wk; II 

(C) I kw;Wk; IV     (D) II kw;Wk; III 

Ans - (B) I kw;Wk; II 

100. Which of the following statements about ‘Glycolysis is/are True? 

 I. Glycolysis is also known as Pentose phosphate pathyway 

 II. The substrate of Glycolysis is Glucose 

III. The final product of Glycolysis is Glycogen 

IV. Glycolysis is also known as Glyoxylate cycle 

(A) I and III     (B) II on ly 

(C) III and IV     (D) IV and II 

Ans – (B) II on ly 

‘fpisf;Nfhyprp];’ gw;wpa fPo;f;fz;l $w;Wfspy; vJ/vit rhp? 

I. fpisf;Nfhyprp]; epfo;tpid ngd;Nlh]; gh]Ngl; topg;ghij vdTk; miog;ghh;fs; 
II. fpisf;Nfhyprp]pd; jsg; nghUs; FSf;Nfh]; 
III. fpisf;Nfhyprp]; epfo;tpd; KbTg; nghUs; fpisf;Nfh[d; 
IV. fpisf;Nfhyprp]; epfo;tpid fpisahf;]Nyl; Row;rp vdTk; miog;ghh;fs; 
(A) I kw;Wk; III     (B) II kl;Lk; 

(C) III kw;Wk; IV    (D) IV kw;Wk; II 

Ans - (B) II kl;Lk; 

 


